
Unit 2 past essay questions- use this to plan your revision!  

 

Discuss how far sociologists would agree that gender socialisation is the main reason why 

women commit less crime than men. ( 12 marks) 

 

Discuss how far sociologists would agree that the mass media are the most important 

influence shaping public opinion. 

[12 marks] 

 

Discuss how far sociologists would agree that there is still limited social mobility 

in Britain today. 

[12 marks] 

 

 Discuss how far sociologists would agree that in Britain today a person’s 

ethnicity is the main cause of inequality. ( 12 marks) 

 

Discuss how far sociologists would agree that the working class is more likely to commit 

crime than other social classes. 

[12 marks] 

 

Discuss how far sociologists would agree that the mass media are the most important 

agent of socialisation in society today. 

[12 marks] 

 

Discuss how far sociologists would agree that welfare dependency is the main cause of 

poverty in Britain today. 

[12 marks] 

 

 Discuss how far sociologists would agree that social class is still the most important 

cause of inequality in Britain today. 

[12 marks) 

 

Discuss how far sociologists would agree that some minority ethnic groups are still 

stereotyped as criminal by the police and the legal system. (12 marks) 

 

Discuss how far sociologists would agree that relative deprivation is the most important 

factor in explaining levels of crime in society today. (12 marks) 

 

Discuss how far sociologists would agree that editors and journalists decide what 

appears in the news. (12 marks) 

 

Discuss how far sociologists would agree that the poor are largely responsible for their 

own situation. (12 marks) 

 

Discuss how far sociologists would agree that, in Britain today, age is a more important  

cause of inequality than any other factor. (12 marks) 

 


